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a. Apou Q ={-1,0,1, 2, 3, 4, 5}, eivai

P(Q)=1<P(-1)+P(0) + P(1) + P(2) + P(3) + P(4) + P(5) = 1.%7
‘Eotw P(-1) = P(0)
Tote

P(-1)=P((0)=P(1)=P(2) =k, evw P(3)=P(4) = P(5) =K/2.
‘ETo1 givan
K+K+K+K+ (K2)+ (k/2)+(kK2)=1<
4K+3—K=1<:>8K+3K=2<:>11K=2<:>K=£.
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Apa
P(-1) = P(0) = P(1) = P(2) = 2/11 evw P(3) P(5)=1I11.

B.ApoUANBcA={1,3c{1,3 x¥*-x=
Apa  -1e{1,3 x*-x-3}.
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y- MNa x =-1 givar A .3,
Tote ig i
e PA)= P@+ P(-

5 3 2
P(A)-PAnB) == -2 =2
A -PANB) =117 7

e P(AUB)=P(A)+P(B)-P(A~B)=

= P(A) + 1 - P(B) - [P(A) - P(A ~ B)] =

=1_P(B)+P(A~B) =1-_L+>="
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